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rﬁ:!sﬁmnce} 10th Lahore Board 2017 | papr |
Tme 20 OBJECTIVE [ Marks: 15
A . (Group-|)

an_g:‘!".ﬂu have four choices for each objective type
question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question
number. Use marker or pen to fill the circles. Cutting
or filiing two or more circles will result in zero mark in
that questiori. Attempt as many qusstions as given
in objective type question paper and leave others
biank. : _ A :

M An equation which remains unchanged when X is -

replaced by 1 is called a/an:
9 x

| jor Reci i n
(A) Exponential equation (B) Reciproca equato
(C) Radical equation (D),agmﬂcaqu.i:m
2. I o,pare the roots of Sﬂﬁx—irman_;uw ‘

. - 3 -

(A % NES B
@ SRR e S
R O s

3. Cube roots of =1 are: ;
@ -1,-0,-0*  © ',""'m’j;
(C) -1,-® ®? (0 1'-{!:’*'..”[5-

v e oy e Yo

4.  The fourth pmparﬁalnal W .
“" .
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D) —

(©) W =
If a:b =X y then alternanda property is:
' By 2L
(A) ;='§ - _. A By
a+b_X+Y' ... m a-b_x-y
(C) By .“ > g
ST radian = ... ' |
4 e i s
% 7. 5 b Lot (B) 150.;
(C) 30° .. (D) 135
- The set having only one element is called:
(A) Null set .~ (B) Power set

(C) Singleton set’ = (D) Subset- .
If AcB then A — B is equal to: |
(A) A (B).-B-

(C) A-B - D) ¢

10,

11.

12

13

. The arcs ppposite to incongruent cetral HHQIES af a:}.

A frequency polygon is a many sided_
(A). Closed figure  (B) Circle
(C) F{ectangle - (D) Square.

sec?f= :
(A) 1-sin®0" (B) 1+taﬁ_213-
(C) 1+cos0- (D) -‘-1—tan2|‘3

Radii of a citcle are:

(A) Double of the diameter (B) All unequal
(C) 'Half of any chord (D) Four points. -
A tangent line intersects the circle at

(A) Three points ~ (B) Two points
(C) Single point - (D) Fﬂur points -
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circle are always

(A Congruent :
{C} Perpendicular
The length of the diamet

(E) I:"'E\nsaihrel
2) Incongryep

; er of .
* times the radius of the cirgje. a-circle is hoy many
(A 1 ' (B) 2
C) 3 | D) 4

5. The tangent and
" contact are |

(C) Perpendicular - - (D) ‘Not parallel -

ra_i;:ligs_ .nf alcfrcl‘e'at the paint of

Mathl.Eﬂ'r'lﬂtIIEE : 1.U-th LﬂhDrE Beoard 201.7.. F;per: I
(Science) “-ufr vy T i KW i
Time: 2: 10 Hrs. - SUBJECTIVE = | Marks: 60

. {Grnup I) (SECTION - 1)
I Wnte shnrt answers to any SIX (6) questmns
O (2x6=12)
Write the name of any two methuds for su_lumg a
quadratic equation. -
i - Solve: =~ x2+2x-2=0
ii. " Evaluate: (1 —3W = 3W2)°
V. Evaluate: W+ W¥-5
. Without solving find the
‘roots of quadratlc equation:
"" Write'the quadratic equatio
i Define direct variation.
Find the fourth proportiond M
Findxif6:x::3:9 5|X questions: (2x6=12).
Write short answerﬁ to any:: .

su;rn and thr—: product nf
ax2 + 7Tx=11= 0
n having the roots: -1,-7:

I tD El ?" E
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iii.
iv.

vi.
vii.
Viil.

.
i
L

Deﬁna a rational fraction. Y
"

Resolve —— into partial fraction,

X -1
Define Subset.

AfL={a, b, c}, M= (3, 4}-then find L x M

Find domain and range of the binary relatio
R =-{ (1, 1]'- {21 2}1 (3, 3)1{41 4}}
If(2a+5,3)=(7,b-4),finda,b . ,
Write two propertiés of arithmetic mean,
Define mode. | '

Th? sugar contents for a random sarnple of § g
of juices of a certain. brand are found to be 2.3.
25,29 31and 1.9 milligram, find the li'lediar; o

n,

Write short answers to any SIX (6) questions:
I Define radian measure of an angle e
. Convert 15° to radian. 2
fi. . Find ¥, when ¢ = 56 cm, o= 450
V. What is meant by zero dimension?
V- Define chord of a girgle. -
Vi.  Define tangent to a circle
v!!: What is meant hy sector ;:f'a |
Vill. Define Circumangle. S
X. Define inscribed circle, =
| (SECTION - )
ﬁm—. i At;nt::tt'gzree qugstinns in all.

MW -x+3'= 0 . iank
the roots of equation ¢x2 + mx +N%

B

L) ‘I
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¢ # 0) then fin
0, (¢ _. dthEUmuE Df._1_+ 1

R
ﬂ () Using theorem of componendo. INideido Fn
the value of: X*2Y . x+2z i _ dyz
FeRrey ey S S W
(b) Resolve in_in partial frations; __X=11 )
o x-4)(x+3)
i (a) ifu={1,23, coeainy 10}, A= (K315, 7, 9} and
B=1{1,4,7, 10} then verify that A~B=ANB"
oy o 1 4
(b) Calculata'th_e variance for the data: | LI;
10,8,9,7,5,12,8,8,8,2" . R
E (a) - Prove that: sin@{and+ cotf) = secd (4)
(b) Draw two perpendicular tangents to a circle .of
radius 3 cm, '
' - % oS (4)
Prove that if two chords of a circle are congruent
then they will be equidistant from the centre. (8)

OR Prove that the measure of a central angle of a
minor arc of a circle, is double that of the angle -

TR subtended by the corresponding major are.
Mathematics |
| _(Science) _
LTJ_“_"_é:_Zﬂ min. | OBJECTIVE Marks: 15

R (Group-ll) o5 0 g
Hntﬁt‘r'uu'have four choices for each nbjectu..'e type
Question as A, B. C and D. The choice which -{nu

- think is correct, fill that circle in front of that question
Number. Use marker or pen to fill the mrn;les. Cutting

10th La-hnre Board 2017 Paper: Il
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or filling two nr more ::.lrcles will result in zem "'Iark 0
that questlun
Find x in proportion 4:x :: 5:15:

yda o (8) 2

O T | 3

. 5 .

O 2. L e

The different number of ways to describe a set js:.

(A) i1 B) 3

) 2 “ D) 4 ¢

The solution set of equatlun 4x% - 16 = U |s
(A {E 4 ) {4}

R o B {D+2'

The extent of variation hetween two extreme
observations of a data sat is measured by:

(A) Range | (B) Average
(C) Quartles - (D) Median
E_radaan- |
(A, 115°% . (B) 150°

(C) 30° . (D) 135°"
sec?i= E AN '
(A) 1-sin2g " (B) 1+tan2e
(C) 1+cos26 (D) 1-tanze

The distance of any pnlnt nf the ¢ m:le tn |ts {:entrﬁ' is -

called:

(A) Diameter " (B) Mhurd
(C) - Radius (D) Anarc

The portion of a circle I:netween t'-.-..-u radii and an 3"“
is called: 3

g -]
i L
LR

Ay
; R
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10.
11.

12.

13.

14,

48,

(C) 4

(A) Sector

(B} Segm “
©) Chord o Dlagm;:tr
The th|r§ pmpurtmn_al: of X2 ang V2 is
(A) {B]-' X2y2

X _ -
y,d . ; . Y 5
C) = , By ¥
X FiEig 3 i
Tangents drawn Et the ends of diameter of a circle
are m each other:
(A) Parallel * -  (B) Non: parall&i
(C) Collinear (D) Perpendicular

How many cummnn tangents can be drawn for two
touching circles: ' -

(A) 2 " AB) !
(C) 4. i s NDJ' '3
1fA:BthenA B is equal to:

- (A A ® ¢
(C) B. ./ - (D) A-B

lfo, B are the roots of x2=x=1=0, then product of

the roots 2a and 2B is:
oA Mo (B) 2
' (D) 4

d:
“element is called: -
The set having Ign"f 1HHE{EH power set

(A) Null set- (©) subset
(C) Singleton set- o,
Cube roots of 1 @re: @) 0 —0*
2 B) —»™
i =0 ; : . L

s 2
[C] —1}' -, ®

Scanned by CamScanner



~Mathematics - o

10th Lahore Board 2017|
(Science) - s -Pap"fi I
Time: 240 Hrs. | - SUBJECTIVE Markag:
(SECTION - 1) (Group-li) e

Wirite short answers to any SIX questions:
i .

[2 I"':621 2}
'Define radu::al equatiun -

. Write the equation in standard form; _X_ , X+1

t_—-—...._.l_ e

g ki xS,
Jiii. ~ Define simultaneous. equations, -

v. - Evaluate: (9 -40 -4m?)

v.  Without solving, find the sum and the product of the
roots of quadratic equation:

({+m)x2+ (Mm+nx+n—-c=0  aiar '
Use synthetic division to find the quotient and tfie
remainder, when (%% + 7x — ) + (x + 1}

vii. Define direct variation.

viii. - Find fourth proportional: 4x* ; 2%, 18x5
o ST 3(4x-5y} 2x — 7y, find the ration x : y.
' _ Write shnrt answers to any SIX (6) questmns

_ {2xﬁ=12} I

vi.

Define a rati{::nal fraction. 2 ol :
2 ' - 7x -9
. How can we make partial fractions of e LI

. lii. " Define complement of a set.

VL

.. Findaandbif (a<4,'b- 2)=(2,1) '
V. Define domain and range of a relation.

FindA " B ifA={(2,3,5, 7). andB={3, 5 8 '5.:35;
Vii.

“ 1
The marks of seven students in Mathemahﬂﬂ 3""‘ 5
follows. Find Arithmetic Mean: '
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0, 74, 55 65, 63 49

46 tric
 cind geume r mean nf 2,
il ode. g
| pefte |
ﬁ ite short aNSWErS {0 any SIX () ques
Y . : 10N§;
|{2H6=12]

. pefine radian. _
L Express 225° into radian.

::| n a circle of radius 12 m, find the lehgth o 3 ag
which subtends a central angle 6 = 1.5 radian.

pefine prﬂjEEtIDﬂ of a pmnt

Define radial segment.

Define the tangent to a circle.

Define sector of a circle. - -

Define central angle.

Define geometry.
(SECTION - - 1)

Note:  Attempt Three questions in all. L
H (a) Solve the equatlnn 2%+ 5= [7x+16 {#}

" (b) Use synthetic division to find the values of £
- and m, if (x+ 3) and (X — — 2) are the factors of

the polynomial x3 + 4!'2 $2lx+ M . {4].
f # ﬂ} then show .

)
il
viil.
vill

a1
that:
a a?+ci+e (4)
b 'bz"'di” s x-11 (4)
(b) Resolve into pErtial fraction (X 4)(x +3)
={1,3.5 7.9}

R
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B={1, 4,7, 10} then pmve that B — A = Bra

(b) The marks of six students in rn.fmthenﬂ.ﬁmS

as fnllnws Deterrnme variance:

: 1—sin8_ 1+--sinﬂ

_ — .

Students 1 1.2 31 2l'5 |8

. Marks 60 |70 | 30|90 | 80 |42
E (a) Prove that: 1+sin@" 1-sind

4 l
{4]

. =4tan Osecp .

(4

(b) Inscribe a circle in an equilateral tnangle ABC
g with each side of length 6 cm. -
Prove that two chords of a circle which are
equidistant from the centre, are congruent.
OR Prove that the opposite angles of any

quadrilateral inscribed in a circle aré

supplementary.

(4)
- ()

— |
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